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1. For comparing the health conditions of two towns, we have to calculate 

(A) crude death rate 

(B) crude birth rate 

(C) standardised birth rate 

~standardised death rate 

@® p;a;1JT6.Ja;ml~ ~G!Jrr.S.ilUJ .[bJ6nro6nUJ ~ut.Sl@61.J~!f>@>. p;rnb a;6WT.S.il@61.J~ 

(A) Gs:uuOO!ur @JDUY ffi~U:i 

(B) Gs:uuOO!ur t.SlJDuy ffi~U:i 

(C) ~!JUU@~~uuL.L t.SlJDuy ffi~Li:i 

(D) ~IJ"UU@~~uuL.L@JDuy ffi~Li:i 

2. Find Laspeyre's index if Paasche's index is 130 and Rowley's index is 142.5. 

3. 

p 

, 155 (B) 136.25 (C) 272.5 (D) 138.42 

urrw~uSlm ®nSluSL.@ <0r€ilR!r 130, GumroluSlm ®nSluSL.@ <0r€ilR!r 142.5 <0r00lru, rurrwt.SlUJITlm ®nSluSL.@ 

<OTQRsrQ)6Wf .$ a;QRir@t.Sl ~· 

(A) 155 (B) 136.25 (C) 272.5 (D) 138.42 

20LETA= 2 

40 ON A GOTO 100, 200, 300 

After this which statement will be executed? 

(A) 100 3Jff'2oo (C) 150 (D) 300 

20 LETA= 2 

40 ON A GOTO 100, 200, 300 

@~m t.Slw® <0r}b~.$ an!f>J!)I Gs:UJruu@~~uu@U:i? 

(A) 100 (B) 200 (C) 150 (D) 300 
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4. Fertility rates mainly depend on 

(A) total female population 

(B) total population 

, female population of child bearing age 

(D) number of new borned babies 

c$(!!>QJ6ff 65/bt..D QP~mQ>LDl1JITc$ 61Trrfe~®LIU§J 

(A) to.$a;6TrQ/brrQ>a;u5lm Gtorr~tb Gu61iora;6Tr 

(B) Gtorr~~ to.$a;6TrG~rrQ'la; 

(C) ®W.diQ)~ GuwQJ~!f>a;rrm QjllJ~ QJryt..Ot.Slru SL6Trro Gu61iora;6Tr Gr61ior~.$Q>a; 

(D) 4~lLl~rra; t.Sl!DJ!i~ ®W.diQ>~a;Qflm Gr61ior~.$Q>a; 

5. Standardised death rates are particularly useful for 

(A) comparing the death rates in males and females 

; comparing the death rates of two regions 

(C) comparing the death rates only in males 

(D) comparing the death rates only in females 

~ryuu@~~uuL...L.@!DLiY 65/bt..D ®JDluurra; u11Jmu@~~uu@QJ§J 

(A) ~Qior to!f>wt..D Gu61ior .@!DLILJ 65~r&ia;Q'lro ~ut.Sl@QJ~!f>a;rra; 

(B) .@® u®fhla;ro1m .@!DLiY 65~r&ia;Q'lro ~ut.Sl@GtJ~!f>a;rra; 

(C) ~~ .@!DLi4 65~r&ia;Q'lro ~ut.Sl@GtJ~!f>® toL...@t..D 

(D) Gu~ @!Duy 65~r&is;mro ~ut.Sl@QJ~W® toL...@t..D 

6. The death rate obtained for a segment of a population is known as 

Jiii' specific death rate (B) crude death rate 

(C) standardised rate (D) vital index 

(A) @!JDlut.SlL...L @wuy 65~t..D 

(C) ~ryuu@~~UULL 65~t..D 

STAT/15 4 

(B) G6UU~LIT .@!DLILJ 65~t..D 

(D) :Lu5lrr ®JDluS® 
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8. The inequality constraints -are changed to equality constraints by 

(A) adding non negative variable 

(B) subtracting non negative variable 

Jfl'!' adding or subtracting non negative variable 

(D) multiplying (-1) 

(B) ®Q>!DUJJD!D LDIT!6JQ>UJ c!b~PJ~GU a6U61Rrr@Lb 

(C) ®Gi>!DUJ!D!D L.Drr!6JQ>UJ 86't.LLro ~roru~ CJ)~~~ro a6U61Rrr@i..D 
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9. Denotes the process is in control 

(A) A point outside the control limits 

Jll'f" All the points inside the control limits 

(C) A run of seven or more points 

(D) More point outside the control limits 

(B) .d91Q'JQT~~ 4mmla;~tb a;L.@uurrL.@ GTQ>Q'JQ)8;® ~mcm 

(C) 'l@ .d91Q>Q)~ .d91~.s 4 mml.sm ~mJDrra; .d91Q'JLD6ll~ 

(D) .d91CJDa; 4mmla;m a;L.@uurrL.@ GTQ>Q'JQ:J.$@> Q6llmlCUJ 

10. The maximum possible time for an activity to be completed is 

(A) the most likely time ~the pessimistic time 

(C) the optimistic time (D) the project completion time 

(A) .d91~.S QJITUJU4Q'JLUJ Cp>l}"tD (B) UIT~.SLDITQT Cp>IJtD 

(C) 61T~.SLDIT~ Cp>l}"tD (D) ~L.Ltb QPtq-Liu~!Da;rrQT Cp>IJtb 

11. In canonical form of LPP, all the constraints except non-negative restriction are 

Jllf ::;;; type (B) ::?: type 

(C) = type (D) ~ or = or ::?: type 

.@UJLDQT 6lltq_6llLDITQT CJDliCd;rrL.@ .d91Q'JLDLI4~ ~L.L~~Q>, @>Q'J.(DUJWJD .sL.@uum.:.Q'JL~ ~615!1J LDWJD GTQ>rurr 

.sL.@u u rrL.@a;mlm QI Q'J6i 

(A) 

(C) 

STAT/15 6 
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(D) ::;;; or = or ::?: QJQ'Ja; 

p 

www.upscstudymaterials.com



12. If the primal problem contains ' n' variables and 'rn' constraints, then the dual will contain 

(A) n variables and n constraints 

JJllf' m variables and n constraints 

(C) m variables and m constraints 

(D) n variables and m constraints 

@~QTQ>LO s;6Wf6;@> 'n' LDrr!15ls;mrou..iib 'm' s;L...@uurr@a;mrou..iib Qa;rr6lfGrL~rra; .@®fe~rrro ~~Qi .@Q!)Q">LO 

a;~6;® Qa;rr~Tl~Q!)UU§J 

• 
13. In an assignment problem involving five workers and five jobs, the number of assignments 

possible are 

(A) 5 ! (B) 25 (C) 10 ,5 
(A) 5 ! (B) 25 (C) 10 (D) 5 

14. In an assignment problem involving four workers and three jobs, total number of 

assignments possible are 

p 

(A) 4 pf 3 (C) 7 (D) 12 

4 C:QJQ)Q) 4L...s;m LDJDg)ILD 3 C:QJmG>a;Q>m.$ Qa;rr~L ~~.$£L...@ a;~.$£ro ~~.$£@a;mlQi 

~~~.$Qlc$UJfTQT~. 

(A) 4 (B) 3 

7 

(C) 7 (D) 12 
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15 Weighted Indices ought to be preferred to 

(A) Constant 

?> Unweighted indices 
• 

(C) Numerical variable 

(D) Kgs 

(A) LDrr!Dlrol 

(D) .il . .s. 

16. If Laspeyres index is 130 and Paasche's index is 160 then Fisher's index is 

(A) 145 (B) 208 ~ 144.2 (D) 30 

(A) 145 (B) 208 (C) 144.2 (D) 30 

17. If I p1q0 = 500, I Po%= 425, I p1q1 = 540, I Po%= 480 Fisher's index is 

(A) 100 ~ 115 (C) 120 (D) 125 

(A) 100 (B) 115 (C) 120 (D) 125 

18. The index number of base year is • 

/ 100 (B) 1000 (C) 1 (D) 10 

~lq-UU~L ~6Wrtq..6UT ®!!5lt0L...@ ~6WT 

(A) 100 (B) 1000 (C) 1 (D) 10 
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. 19. The formula for co-efficient of variation is 

(B) 

(C) 

(D) 

(A) 

(B) 

(C) 

(D) 

(j 
C.V. = -:=-xlOO 

x 

C.V. = lOO x x 

(j 

C.V.= 
lOO+x 

(j 

C.V. = 
<JX X 

100 

_a.a . Q <J X X 
l.01Tgll1:>1J1t1>1~B; B;@ = --

100 

20. Fisher's Ideal Index number is given by 

p 

(B) 

(C) 

(D) 

P01 = ~Laspeyre' s x Paasche' s Price Index 

P01 = ~Laspeyre' s quality Index 

P01 =~Laspeyre's x Fisher's Formula 

P01 =Link relative x I Pi 
I P0 

tS1~rflm 6grrm@)p5lu)L..Qui~r LO~u4 

(A) Poi = -~ Q)rr6iutSlUJr'r x urr6iu~ @SlQ>Q) ®!J5lu)L..Qum 

(B) 

(C) 

(D) 

Poi = ~ Q)rr6iutS1UJir B;~UJL.0 ®!J5lu)L..Qum 

Poi = ~ Q)rr6iutS1UJir x tS1~rflm rurrtLiuurr© 

P (.;'\ IP1 01 = 6l>'Q)~ QJ[JQj x --
I P0 

9 

,, 
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21. The control limits for C chart are 

~ UCL=C+3.JC, CL=C, LCL=C - 3.JC 

(B) UCL=C +.JC, CL= C, LCL= C-3.JC 

(C) UCL=C + 3.JC, CL= C, LCL= C -3.JC 

(D) UCL=C+3.JC, CL=C, LCL=C-3.JC 

C 6l..JQ>fJUL~~601 e;L.@uurrL.@ 6r6\>Q>Q>e;Qi" 

(A) UCL=C +3.JC, CL=C, LCL=C -3.JC 

(B) UCL=C +.JC, CL= C, LCL= C-3.JC 

(C) UCL=C + 3.JC, CL= C, LCL= C-3.JC 

(D) UCL=C +3.JC, CL= C., LCL=C-3.JC 

22. If I p
1
q0 = 535, Ip0 q0 = 365, then Laspeyre's price index number is 

Jllf 146.57 (B) 68.22 (C) 1 

(A) 146.57 (B) 68.22 (C) 1 

23. If Ip
1
q = 471, I p0q = 322.5 then Kelly's index number is 

(A) 68.5 (B) f <vf 146.05 

Ip1q = 471, I p0q = 322.5 Qe;Q>ro1t6l60l@ip51uS'L.Guimr 

(A) 68.5 (B) 1 (C) 146.05 

24. The circular test is an extension of the 

~ Time reversal test (B) 1//2 
- test 

(C) Factor test (D) t - test 

e;w !Dfil aa:rr )2)Ql muSl 601 6lSl fil 6\.1 

(A) e;rrru~~®LiLJ6: aa:rr~Qlm (B) 1//
2 

- aa:rr)2)Ql6Ul 

(C) e;rrrJ6lmfl Ga:rr~Ql6UT (D) t -Ga:rr~~m 

(D) 1.47 

(D) 1.47 

(D) 1.45 

(D) 1.45 
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25. In SRSWOR, the sample mean is an unbiased estimate of 

(A) Population mode 

(B) Population median 

~ Population mean 

(D) Population variance 

26. For the given data, are seven yearly moving averages 

Year : 1950 1951 1952 1953 1954 1955 1956 1957 

p 

Production : 13 14 20 

(A) 13.5, 21 

Jjilf 22, 25 

22 24 

(B) 30.5, 32.5 

(D) 21, 27 

30 31 

Qe;rr@B;e;uul...L ~IJ64e;~8;@) ~® QJ(§L p;e;(§i.b 61Jrr6ITl 

~~@: 1950 1951 1952 

~JDU~~: 13 14 ~ 20 

(A) 13.5, 21 

(C) 22, 25 

11 

1953 1954 1955 

22 24 

(B) 30.5, 32.5 

(D) 21, 27 

30 

1956 

31 

34 

1957 

34 
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27. In linear trend Y =a + bX, if b is positive it indicates 

(A) declining trend 

pf rising trend 

(C) no trend 

(D) curvilinear 

G)DrtltuQ> Gurr8;® y =a+ bX Q) b m LDfhluy uSl~a;turrB>@®~~rrQ>, ~~ ®!!Sluu~ 

(A) £k9GJ!irr8;®Lb Gurrli;® 

(B) GLD6UGJDIT8i@>Lb Gurr8;® 

(C) 6LDLDITGN Gurr8i® 

28. Given the annual trend Y = 148.8 + 7.2X the monthly trend equation is 

vi' Y=l2.4+0.05 X 

(C) Y = 148.8 + 0.6 X 

(A) Y = 12.4 + 0.05 X 

(C) Y = 148.8 + 0.6 X 

29. The multiplicative model of a time series is 

(A) TxS+CxI 

(C) T+S+C+I 

(A) TxS+CxI 

(C) T+S+C+I 

STAT/15 12 

(B) y =12.4+0.6 x 

(D) y = 148.8 + 0.05 x 

(B) Y = 12.4 + 0.6 X 

(D) y = 148.8 + 0.05 x 

(B) TxS+C+I 

fj/f TxSxCxI 

(B) TxS+C+I 

(D) TxSxCxI 

I 
... 
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30. The decline of sales of ice cream during November to Man;:h is related to 

Jl'f Seasonal variations 

(C) Irregular variations 

(B) Cyclical variations 

(D) Trend 

(B) 8T~!f>S°1 l.O/Tg)JUIT@ 

(D) ~urr8;@) 

31. In a double sampling plan, a decision about the acceptance or rejection of a lot 

. (A) will never reach ,, 
will always reach 

(C) will sometimes reach 

(D) none 

(A) GTuGurr@~Lb GTL...LuuLrr~ 

(B) GTuGurr@~Lb GTLLUu@Lb 

(C) S°16U ~p;&ffiia;61flru GTL...Luu @t.0 

(D) GT~ 61.j t.6160 Q)6\) 

32. Control charts for attributes are 

¢' P-chart (B) C - chart 

(C) R-charts • (D) X -charts 

u6Mrya;~8;a;rrm a;L...@uurrL...@ 6UQ)1Ja;Gi°T 

(A) P- 6UQ)1Ja;Gi"T (B) c - 6UQ"ll)B;Gi°T 

(C) R-ruQ)IJa;Gi°T (D) x -6l.JQ)l)<'f>Gi°T 

p 13 
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33. A double sampling plan is complete when the following are specified 

(A) N,ni , c1, n2 ~ N,ni. n2 ,c1 , c2 

(C) 

31. Blind sampling is 

(A) The plan which is too much complicated 

(B) The plan where the lot is accepted or rejected based on one sample 

(C) The plan which ensures that the lots of high quality will be accepted 

jl'f The process of drawing items from a lot without any regard to their quality 

s;~~t.q.~~~L.Orr~ Sdl.Q!D@~~ru 6Trou~ 

(A) ~® 618;s;Qlrr~ L.Orr~rTl Qfl~.(DUJrT(§tO 

(B) ~arr Vl® "Sdl.Wf"~ ~t.q.uuQJLUJrrs;Si Qs;rr~@ Q~rr@)~QJUJ ~!i>JPJSi Qs;rrG'irm (~) 

Jblrrrrs;rTluu~!Ds;rr~ L.Orr~rTl QPQJ.(D 

(C) ~~s; ~rr~~L6Gr Sdl.t.q.UJ Q%rr®~Q)UJ ~!i>!!)JSi Qs;rrG'irru§J 

(D) ~~s;L.Orr~ ~IT~~~ Gurr@L.u@~~rr§J. V>® G~rr®~uSlGlSl@.ffi~ Gurr@LBiQlffi" 6T@ULI%WBirT~ 

Qs:uj~a; QPQJ.(D 

35. In a double sampling plan the average sample number is given by 

(A) rLi + nz P1 ~ rLi + nz (1- pi) 

(C) rLi + P1 (D) nz P1 

@® Sdl.Wf QPQJ!!)uSlru S:l)rTS:rTl ani;pi ~QI ~ffi"QlrT~~ 

(A) 7Li + nz P1 (B) rLi + nz (1 - P1) 

(C) 7Li + P1 (D) nz P1 · 
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36. lOLETX= 2 

20 FOR I = 1 TO 5 

30 LET X= X+ 2 

40 NEXT I 

50PRINTX 

What is the output? 

(Jllf"12 (A) 2 (B) 5 (C) 1 

10 LET X = 2 

20 FOR I = 1 TO 5 

30LETX=X+2 

40 NEXT I 

50PRINTX 

@~Q! Qrumho@ ~~~? 

(A) 2 (B) 5 (C) 1 (D) 12 

37 The relation between expected value of R and standard deviation a with usual constant 

factors is 

p 

(A) E(R)=di. a 

~ E(R)=d2 a 

(C) E(R)=D1 a 

(D) E(R)=D2 a 

RQ! ~~l'rurn'r.$®1.D LD~UL.j LD!i>IJ)Ji.D ~L..L61S1ru.$a;i.D a @ru!iJ!J5l!iJ.$lQ'>LGUJll.jGTrm Q~rrLl'rL.j, ru~.$a;L.Drr~ 

LD1T!!51roJa;~LQr 

(A) E(R)=di. a 

(B) E(R)=d2 a 

(C) E(R)=D1 a 

(D) E(R)=D2 a 

15 STAT/15 
[Turn over 

www.upscstudymaterials.com



38. A randomised block design has 

(A) three way classification 

(B) one way classification 

~ two - way classification 

(D) no classification 

(A) (y)~IPJ 6l.J~ UIT@)Urr@ 

(B) ~(!9 6l.J~ UIT@)UIT@ 

,(C) @@ 6l.J~ UIT@)UIT@ 

(D) urr@)urr@ @rororr~~ 

39. Replication means 

(A) Estimation 

(C) Reflection 

(A) L.O~utS1@~ru 

(C) 6r~Grrrrffilu4 

iJlf Repetition 

(D) Refraction 

(B) ~®tbu.9: Qa:lLi~ru 

(D) 61.SlQ).sru 

40. The variation due to -----cannot be traced out separately. 

fJlf' Chance causes 

(B) Assignable causes 

(C) Variation causes 

(D) Fixed ca uses 

------.smrrru GJJi>u@tb LDrrIPJurr@.sQ'lm ~~UJrr.s .s~.srr~Bi.s QP11t-UJrr~. 

(A) rurrlLiu4 .srrrr(iWTrfil.s~ 

(B) ®!DlutS1L~~Bi.s .srrrr~rfil.s"1r 

(C) L.Orrwu@tb .srr']'(iWTri.Js;~ 

(D) .@Q)Q)UJJTQT .SfTl)(iWTrfil.g;~ 
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41. The LSD model assume the interaction between treatments and row and column groupings 

42. 

are 

(A) Equal 

(C) Heterogeneous 

• (B) Homogeneous 

~Non-Existent 

LSD wrrLru GT6irrut91 @66lL Q5wruurr@ QP66l!D<!w, 61$18=G"6>8' QPG"6>!!), $1G"6>LLDLL 6l.JIT1G"6>8' LOdJ!PJt.b Qmfil@j~§J 

6l.J iT1 rn 8' a 8' rr p; !li rn 6l.J .g; m 

(A) B'LOt.b (B) @S1~~WfT8'LO!fJ!D§J 

(C) 6lS1~~wrr8'LOrr~§J (D) 6l.JrrwJi>~®~tJ5ru ~!D!D§J .. . 

The assumptions in ANOVA a1•e 

(A) Normality, Heterogeneity and Independence of Error / 

(B) Normality, Homogeneity and Dependence of Error 

Jllf' Normality, Homogeneity and Independence of Error 

(D) Non-Normality, Homogeneity and Independence of Error 

: 

(A) @w6UJ£166lru, 6lS1~~wrrB'LOrr~ LOdJ!PJt.b c9TtJ5Ji>~'l~~6irrG"6lLO Q.g;rr~L iSlrnw 

(B) @w Qi .llil G"6) 6\) • 6lS1 ~~ lLI rr 8'LO JD !D LO !D !Pl t.b c9TtJ5Ji> ~ 'l ~$!)6irr G"6l LO lLI !D JD iSl G"6l w 
(C) @wruJ£1rn6U, 6lS1~~wrr8'LO!fJ!D LOJD!PJt.b c9TfhJi>~'l~fh6irrG"6lLO Qs;rr~L iSlrnw 

(D) @w6UJ£1G"6lruw!!J!D) . 6lS1~~wrre:LO!iJJD LOdJ!PJt.b c9T~Ji;~'l~~6irrG"6lLO Q.g;rrooL iSIG"6lw 

43. An ANOVA can be used to test for the two factors simultaneously is called 

p 

(A) F-test 

(C) Ratio of two factors variance 

~ 

(B) Simultaneous variance test 

/}iJlf' Two-factor analysis of variance 

~all e:LOw~%lru @'loo@ s;rrfl~$G"6>Grr ~e:rrfhG"6l~ Q5uJ~t.b Gurr@§! uw6irru@~tJ5Liu@t.b ANOVA GT6irr!PJ 

~G"6lw.Ss;uu@6l..l§J 

(A) F - ~e:rrtJ566l~ (B) ~~fl 8'LOw~~ru Ufl6l..l!iJutq. ~8'rTfh66l~ 

(C) @'loo@ Ufl6l..l!!Jutq..g;GTfl6irr 6l51$l~rr.9:8'rrflffils;m (D) @'loo@ $rTfl~$GTTl6irr ANO VA 

17 STAT/15 
[Turn over 

I 

www.upscstudymaterials.com



I 

44. In a 6 x6 Latin square design error degrees of freedom is 

(A) 24 (B) 25 cc/20 (D) 36 

6 x6 Q)p;P,iin a:~IJ" ~60'>LDut5lru t516&'lw8;e;rrm e;L.llj-iln6&'>LD G;T~~8;60)e;e;m 
• 

(A) 24 . (B) 25 (C) 20 (D) 36 

45. Skewness means 

(A) Symmetry (B) Equality 

f8lf' Lack of symmetry (D) Dispersion 

Ge;rrL.Li..0 G;TGn!!)rrru 

(A) 61}"rrm~ (B) 6LDLDrTm~ 

(C) 61J"!i>!D~ (D) fil~!DQ) 

46 In stratified random sampling stratification is done with respect to 

(A) Variables rjf Attributes 

(C) Constant (D) Variance 

47. In the simultaneous tossing of two dice, the probability of obtaining 4 as the sum of the 

faces is 

(A) Yi2 (B) Yi2 (C) Yi2 

@® ua;60'>La;m ~GIJ" a:LDUJp;~ru ~®L.Luu@i..O Gurr~ ~@i..O QPe;Liya;Gtfliln BnL.@p;G~rr60'>e; 4 ~a; @®B;a; 

G~60'>ruUJrrm .llile;~~~ 

(A) Yi2 (B) Yi2 (D) Yi2 
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48. The degrees of freedom which make up th e statistic is 

(A) Number of dependent variates (B) Maxim u m degree 

~ Number of independen t variates (D) Minim um degree 

Degrees of freedom (d.f.) ~mu§! UJrrQ~Qf!Q> 

(A) 8'~Jb~ IJ"LDrD!D LDrrJD)a;blflm ~~HilR1fl.9;Q>s; (B) ~~s; ~.$lrfl 

(C) er~/b~owrr~ LDrrJD)a;blflm ~~~8;Q>s; (D) @>Q>!DJb~ ~.$lrfl 

49. The degrees of freedom of 2 x 2 contingency table is 

(A) 4 (B) 2 (C) 3 ~ 1 

(A) 4 (B) 2 • (C) . 3 (D) 1 

50. The observed value in 2x2 contingency table is [: :J the expected.value is 

p 

(A) [: :J 

(C) [: :J 

~ [4.5 5.5] 
4.5 5.5 

(D) [5.5 4.5] 
5.5 4.5 

Q"o(i)B;,.UuLL tnilJU4 2x2 "'°"">!ll""'61 .,.,i:_L..,..,...,,g.;, <'P"'J!JC11J [: :J <r..t10J <rii!rT<lp;o&l!!i 

(Expected)LDfh1Li'-l . . 
(A) [: :J 
(C) [: . :J 

19 

(B) [4.5 5.5] 
4.5 5.5 

(D) [5 .~ 4.5] 
5.5 4.5 
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51. The estimate of the standard error of the sample mean under SRSWOR is given by 

r/ ~1-~s/rn 
(C) (1-~ )s 

(A) ~1-~s/rn 

(C) (1-~} 

(B) s/rn 

(D) .Js/n 

(B) s/rn 

(D) #, 

52. The relation between the variances of sample mean under SRSWOR and SRSWR is 

(A) V(:Yn)SRSWR < v(y,.)SRSWOR ~ V(:Yn)SRSWR > V(:Yn)SRSWOR 

(C) v(- ~ > V(:YJsRSWOR 
Yn SRSWR 

CD) v(:y,.)sRSWR < v(- )1 
Yn SRSWOR 

• t 

(A) 

(C) 
1 . 

v(- ) > V(:Y,.)sRSwoR 
Yn SRSWR 

(D) V(yn )SRSWR < v(- ) 
1 

Yn SRSWOR 

53. In SRSWOR; if population size N is very large, n is very s!11all compared to N then finite 

population correction is 

(A) 0 

(C) n/N 

(B) -1 

jJllf 1 

SRSWOR-~ £w . .@m~Q~rr®~ 'N' L.6lB>uQuill~rra;~t.O. en!!S1~ ~6tl@) 'n ', .@m~G~rr®~ 'N' GlSlL 

L.6la;8; ®Q)JDGUITB; .@®):i>~rrru, (y)Ll}-~GITGIT .@m~Q~IT@)~ ~®~~LDITm@ 

(A) O 

(C) r1t/N 

STAT/15 20 
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' 54. The population constants are called ,,, 
parameter 

(C) hypothesis 

QP@Q)Wp; Q~rrQ).su.S\Qr wrr!Dl~ ~QrU§J 

(A) umru GTTQ)6l.J 

(C) ~@a.srrw 

55. The sample constants are called 

(A) parameter 

(C) hypothesis 

~® an!DlQr wrr!Dl~ ~QrU§J 

(A) UeibTLJGTTQ)6l.J 

(C) ~@a.srrw 

56. Null hypothesis is defined as 

(A) the alternative hypothesis 

(B) testing of possible acceptance 

(C) level of significance 

~hypothesis of no difference 

Ce:rr~Q)Gm" ~@a.srrw ~Qru§J 

(A) WTTfDl))J ~@C.srrw 

(B) ~fD4Q)LUJ Ce:rr~Q)W 

(C) uSlQ).s~~QrQ)U) wl...LL.i:> 

(D) ww8;.s~~8;.s ~@a.srrw 

p 

(B) statistic 

(D) sample 

(B) Bnl))J U~UGTTQ)6l.J 

(D) Bnl))J 

rJlf' statistic 

(D) sample 

(B) Bn.l))J U~LJGTTQ)6l.J 

(D) Bn.l))J 

21 
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57. Probability of rejecting H0 when H0 is true is called 

(A) Power of the test (p) ,, 

~ Level of significance (a) 

(C) Type-I Error ' 
(D) Type-II error 

(A) G6rr~6'>6Ur ~!DEiirr (p) 

(B) ~rTLDIT6UT LI@)~u5'1Eiirr ~ffi~ (a) • 

(C) Type-I t5lm1;9 

(D) Type-II t5lm1;9 

58. The Neyman-Pearson Lemma is applied to 

(p/ Simple null hypothesis against simple alternative hypothesis 

(B) Simple null hypothesis against composite alternative hypothesis 

(C) Composite null hypothesis against simple alternative hypothesis 

(D) Composite null hypothesis and composite alternative hypothesis 

Gp;u:..iLDro-t.SlUJrr6Eiirr ~6'>6m~ G~!DJD~m~ uUJEiirry@~~GU~ 

(A) ~61flUJ @EiirrmLD ~@Gs;rrm LDrD!J)lt.b ~61flUJ ~Eiirrg116'61L._L ~@Ga;rrm 

(B) ~rolUJ @~mLD ~@G.srrm LDrDWJLb @6f>~Jb~ ~rogJJ6'6lLL ~@G.srrm 

(C) @gi~jb~ @~6f>LD ~@G.srrQr LDfbgJJLb ~61flUJ ~Eiirrg116l5!LL ~@G.srrm 

(D) @6f>6mJb~ @~ooLD ~@G.srrm LDfbWJLb @Q">6mjb~ ~roWJ6'6lLL ~@G.srrm 
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59. In a large sample test the 100 (1- a )°lo confidence interval for population mean, when o- is 

known as 

(A) X ± t0 12 s/ ..Jn 

(C) x ± Za12 d/ ..Jn; 

flll/f' .x ± z a12 (j I ..Jn 

(D) X ± ta/2 d/ ..Jn; 

~® QuiflUJ Sfl.IDJ a61TfhQ)6U'TuSlro (j~ LD~UL.j QfhillJ5~®.$®t.0 Gurr@~ (!P@Q)lD~ GfhlTQ)B>uSl~ 61JIT6ill.$@) 

100 (1- a flo p;t.Dwi;@Q)LQQJ61T'lUJrr6UT~ 

(A) x ± t012 s/ ..Jn 

(C) x ± Z012 d/ F;. 

(B) x ± Z012 o-/ ..Jn 

(D) X ± ta/2 d/ F;. 

60. In large sample test the standard error for testing the difference between two sample 

proportions is 

p 

• 
(A) ~PQ 

(B) ~~ + ~ 
(C) ~PnQ 

CfJll" PQ (_!_ + _!_) 
n1 n2 

QuiflUJ Sfl.IDJ a61TfhQ'l6U'TlJSlru @IJ~@ Sfl.IDJ 6lSl.$lfh~~JD8>1T6UT 6lS)~~UJIT6~Q'l{h aa:rr~.$@)LD aurr~ <:!9lfh~ 

fhlJUt51Q)~UJrT6Ul~ 

(A) ~PQ 

(B) ~ 

(C) ~PnQ 

(D) PQ (_!_ + _!_) 
n1 n2 
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61. X 1, X 2 , X3 , ... Xn is a random sample from a population N (o, o-2 
). The sufficient statistic for 

o-2 is 

~xi2 (A) L.X, 

(C) (L.xj (D) r.(Xi- XJ 

X 1 , X 2 , X 3 , ... Xn 6r6ilr!JJ en.1JJrr6l!l~ N (o, o-
2

) 6r6ilr!JJ Q:P@Q'>LD~ Q~rr®~uSlGb @®fr,~ 6r@8ia;uu@$l!D~ · 
o- 2 -6ilr aurr~LDrrQ!T LD~UOLlq. 

(A) (B) 

(C) (D) 

62. In testing the equality of several population means by F -test, the assumption is 

r/ Population variances are homogeneous 

63. 

(B) Populations are correlated 

(C) Population variances are not equal 

(D) Populations are uncorrelated 

@IT~t.crW®LD aLDWLILL Q:P@6'>LD~ Q~rr®~a;61Tl6ilr 61J"TT6ITla;61fl6ilr 8'LD~~6iJTQ'>LD6J>UJ ~IJ"rftU6l..l~!iJa;rr6l!l 

F -as:rr~6'>muSlm &iWJLDrrmti:> 

(A) Q:P@Q">LD~ Q~rr®~a;61Tl6ilr LDrrg11urr@a;m fi2~fJ u~4roG1T6'>6l..J 

(B) Q:P(!:96'>LD~ Q~rr®~a;m Q~rrLr'rL.fmG1TQ">6l..J 

(C) (!:P@Q'>LD~ Q~rr®~a;61Tl6iJT LDrrg11urr@a;m s:LD6lffl6Ururr~Q'l6l..J 

(D) Q:P@6'>LO~ Q~rr®~a;m Q~rrLr'ri.5l6Ururr~Q'l6l..J 

If the expected value of an estimator is not equa~o its parameter (}, it is said to be 

(A) unbiased estimator ~ biased estimator 

(C) consistent estimator 

CA) i.5lQ">wUJ!D!D LD~uoL...iq. 

(C) Qurr®~~LOrrm LD~uoL...tq. 

(D) efficient estimator 

(B) i.5l6'>Wll.16i'TGIT LD~UOLLq­

(D) ~!J)6i!TuS18;a; LD~UOLtq. 

,. 
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64. Factorisation theorem for sufficiency is known as 

(A) Rao-Blackwell theorem 

(B) Crammer-Rao theorem 

(C) Chapman-Robins theorem 

~ Fisher-Neyman theorem 

• Gurr§JLOrr61ll fbmmLD8;a;rrm a;rrlJ~uu@~~~ru Gfb!D!Dt..0 6fmuu@GtJ~ 

(B) £1Jrrt.0r'r-1Jrr6i.l Gfb!D.[Dt..0 

(C) 6rruGt.0m-1Jrr~mGiu G~!Dwt.b 

65. For a random sample from a Poisson population P (A.), the maximum likelihood estimate I 
of A. is 

66. 

p 

(A) median 

(C) geometric mean 

J£la;ijl61SlUJru~ LO~ut5@ 

(A) @~LJ£l~Q) 

(B) mode 

~mean 

(D) 61JIT6rfl 

The maxim um likelihood estimators are necessarily 

(A) unbiased ~ufficient 
(C) most efficient (D) uruque 

25 

(B) Gurr~LOrr61ll~rr®t..0 

(D) ~UUlP!J)~IT@)t.b 
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67. ' If x1 , x 2 , ••• xn is a random sample from a population with probability density function 

1 2 2 
f(x)=-- e-x 12(} , -OO< X<OO 

o.J2; 

'the maximum likelihood estimator for B is 

(A) :Exi In 

(C) ~r.x~ In 

X1, X2, ... Xn 6T6UfJD 8il.JDrTm~ t516UfQJ(!!jt.b .ffila;W~B;Qj ~LrT~~ S:rTfrtSlQSl@.ffi~ ror@8;a;uu@$1JD~ 

f(x)=-1- e-x212fil, -oo<x<oo 
oJi; 

B -6\Sl@lmLUJ t.OuGuw .ffila;W~:$e;a; LD~ut.SL...i.q. 

(A) r.xi In 

(C) ~'f,x~ In (D) ~r.x; In 

.. 
68. If the density function of a variable x is 

f(x;B) =Be-ox, 0 < x < oo 

95% central confidence limits for large sample n are 

(/ (i ± 1.96)· ~ 
..Jn, x 

(B) (i ± 1.~x)/x 

(D) ( 1 ± 1.9: x)/x 

x 6T'5UTJD LDrr!D1uSlm ~LrT~~ s:rrr'ry £a~ ~IJ"UUL@Qr6TT~ 

f(x;B) =Be-ox, 0 < x < oo 

n LD~uy GurflUJ~rra; .@®B;®t.bGurr@~· 95% LD~~UJ .ffit.bt518;ma; .@mLGQ.Jml 

(A) (B) ( 1 ± l.9l x J /x 
(C) (D) (i ± 1.9: x)/x 

STAT/15 26 p 

www.upscstudymaterials.com



69. In Cramer-Rao inequality, E [al;; Lr is known as 

IJlf information limit 

(B) lower bound of the variance 

(C) upper bound of the variance 

(D) standard deviation 

Ail••uiir-••'" •uioll..flull<i>, E [al;; Lr .,..,u~ 
(A) 6151 ru IJ' 6f QlQ)Q) 

(B) UIJ'6l..lWUk\-u.9~ Ai~Y!D 6TQlQ)Q) 

(C) ugru!Dukt-u.9~ aLO!i:>Y!D 6TQlQ)Q) 

(D) ~LL 6151Q).$s;Lb 

70. For the validity of z 2 test, it is always necessary that the sample observations are . . _,; 
(A) dependent f111f independent 

(C) non zero values (D) negative values 

(A) s=rrrryQ>LUJ60l (B) s:rrrru!D!D~ 

(C) ~~UJLO!i:>!D LO~uys;m (D) 6T~IT1Q)L LO~uye;m 

71. The mean of t -distribution is 

(A) 
n 

(B) 
1 --

n-2 n-2 

(C) n J1i1I' 0 

t -Ul]'QJrol~ 61J'IT6IT1 

(A) 
n 

(B) 
1 

n-2 n - · 2 

(C) n (D) 0 

p 27 
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72. The probability of selection of one sample out of ( ~) samples is 

(A) 
N 

(~) 
(B) (D) 

(A) (B) 
n 

(~) 
(C) 

1 

(~) 
(D) 

73. The errors in a survey other than sampling errors are called 

(A) Standard error rJJI" Non-Sampling error 

(C) Planning error • (D) Formula error 

• 
(B) &i.JdJD@Liu.ID!D tSlQ)wB;m 

(D) rs~~fl tSlQ)wB;m 

74. In a large or small sample, the formula for calculated value is called 

(A) Large sample formula (B) Small sample formula 

Jill' Statistic (D) Parameter 

t 

• 

(~) 
N 

(~) 
N 

filfblUJ ~ruru~ QurflUJ t.0rr~rfl.g;61flru, t.0rr~rfl.g;61fl~ LO~uQ"lu Q.g;rr~@ .g;~@L5111}-B>@>li> LD~ut.Slm 

@;~~fl~~.ID® GuUJrr ~~m? 
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75. The variance of a chi-square distribution with (n -1) degrees of freedom is 

(A) 2(n+1) 

(B) n 

(C) 2n 

~2(n-1) 

(A) 2(n+1) 

(B) n 

(C) 2n 

(D) 2(n-1) 

.. 

76. If X1 and X 2 are two independent z2 Vlfriates with n1 and n2 degrees of freedom 

p 

respectively, then Xi is a 
Xz 

(A) P2 ( i, n2 ) variate 

,, P2 ( i , i) variate (D) P2 ( n1 , i) variate 

29 
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77. The coefficient of correlation will have positive sign when 

(A) X increasing and Y decreasing 

~ Both X and Y deviate in the same direction 

(C) X is decreasing and Y is increasing 

(D) No change in X and Y 

~L..@JDGlJB; Qa;@ ap;n- ~L..®!D6ll 6T~Q> <:!91~ 

(A) X 6T6irr.(D LDrr!Dl ~UJI)". Y -6isr LD~UL..j ®61>fDlJ.1li> 

(B) x LD!f>!J)Jli> y -6isr @1J6MT@ LDrr!Dla;~6irr LD~UL..jli> ~all ~61>a:u5lro LDIT!J)Jli> 

(C) X 6T6irr!D LDrr!Dlu5l6irr LD~UL..j ®61>!!)UJ , Y -6isr LD~UL..j ~UJ@li> 

(D) x LDJD!J)Jlb y -6isr LD~ui.S1ro 6Tlfi~ LDITJDJDQPU:> @Q>61>Q) 

78. The equation for fitting second degree parabola is 

(A) Y =a+bX2 +c 

/jiff Y =a+bX +cX2 

(C) Y=a+bX 

(D) Y =aX2 +b+c 

(A) Y =a+bX2 +c 

(B) Y =a+bX +cX2 

(C) Y =a+bX 

(D) Y =aX2 + b+c 
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79. The angle between two regression equations is 

(A) B=tan-1 {l-r2 . a} a)} 
r ax+ ay 

(B) B t _1 {l-r2 
crx cry } =an --·--~-

r cr2-cr2 
x y 

(D) 

(A) 

(B) 

(C) 

(D) B-t _1 {l-r2 
ax ay } - an --·--~-

,.2 er 2 +er 2 
x y 

80. Another name of auto correlation is 

ifJlf' Biserial correlation 
• 

(B) Serial correlation • 
(C) Spearman's correlation 

(D) Rank correlation 

fb!i.>GfbrTLrTL.j ~L@l!)@S!Qi- LDWJGUUJrT 

(A) @® GfbrrLrr ~L...@l!)6l.J 

(B) GfbrTLrT ~L...@l!)Qj 

(C) Qui.5)wiTGLDroQu ~L@JD6l.l 

(D) WJ ~L...@JD6l.l 
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81. The normal equation for straight line curve fitting y =a+ bx is 

(A) 
L.y = na - bL.x 

L.xy = aL.x - b L.x 2 ·~ 

~ 
L.y = na + bL.x 

'f.xy = aL.x + b'f.x2 

(C) 'f.x2y = na + b'f.x2 

L.xy =a+ bL.x 

(D) 
L.xy = aL.x + bL.y 

L.y = na + br.x 

y =a+ bx "1"6&T!D <!J!ifrG.srr@ Qurr®~§IQJ~!D.srr6GT .@UJroJ516'>Q) 6L06&rurr@.sm 

(A) 

(B) 

(C) 

(D) 

'2:.y = na- br.x 

L.xy = a'f.x - b'f.x2 

'2:.y = na + br.x 

L.xy = ar.x + bL.x2 

'f.x2y = na + bL.x2 

'f.xy = a+btx 

L.xy = ar.x + b L.y 

L.y = na + bL.x 

82. If the cor:relation p = 0 , the lines of regression are 

(A) Coincident 

(B) Parallel 

~ Perpendicular to each other 

(D) Parabolic 

(A) ~Qi-p5)uSl®B;.$1Qi-!D§I 

(B) @6b')~UJITB; LmGTT~ 

(C) ~6&TWJB;G.srrQi-w Q5ri.J®~~rr.s .@®B;®tb 

(D) UJTQl6'>6TTUJLOIT.S .@®B;@>tb 

STAT/15 32 p 

www.upscstudymaterials.com



83. The hypothesis for a specific known value of 'p ' can be tested by 

(A) 

(C) 

(A) 

(C) 

t - test 

z2 -test 

. ~-test 
• 

(D) F-test 

.(D) F - ~a:rr~~6m . 

84. For a normal curve, the QD, MD and SD are in the ratio 

(A) 5 : 6 : 7 ~ 10: 12 : 15 

(C) 

(A) 

(C) 

2:3:4 

5:6 : 7 

2:3:4 

(D) 1: 2: 3 

(B) 10 : 12 : 15 

(D) 1: 2: 3 

85. Which of the following is true in respect of poisson distribution? 

Jiii!' mean = variance 
I 

(B) mean > variance 

(C) mean = 3 variance 

(D) mean = 2 variance 

umi..Ja:rr6Gr UIJ"6l..l~ro GurrlJ)I~~. £w.seiarLru!DlJ)lm "1"~ a:ITlwrrm~? 
• 

p . 33 
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86. The moment generating function of geometric distribution is 

(A) p(l-qe1
) / 1-:e' 

(C) 
pet 

(D) e1(l-qe1
) 

l-qe1 

Glu@.S.sct> UIJ6l..l6\S1~ ~®Ul1~~!D®J® a:rrirlj 

(A) p(l -qe1
) (B) 

p 
l - qe1 

(C) 
pet 

(D) e1(l-qe') 
l-qe1 

87. P(A)=0.15, P(B)=0.25 , P(AnB)=0.10 then P(AuB) value is 

(A) 0.10 

~ 0.30 

(B) 0.20 

(D) 0.40 . 

I P(A)=0.15, P(B)=·0.25 . P(AnB)=0.10 6T~Gi> P(AuB)-.@~w~ul1 

(A) 0.10 

(C) 0.30 

(B) 0.20 

(D) 0.40 

• 

88. If on an average 9 out of 10 ships arrive safely to ports. There are 100 ships. Find the 

average number of ships not arriving safely using binomial distribution . 

(A) 90 

(C) 9 

. (B) 1000 

pf 10 

u~~G\) ~~U§J .suuGi>.s!OTr u~~IJLOrT.S 6l..l!iJ§J aa:rr!iJ~~- Qwrr~~tb 100 .suuGi>.s!OTr ~IOTrm~. Fl'@.(!)JUL.j 

Ul).QJ6J>Q) ~l.la11Jmt°l~§J 61JrT6fll11JrT.S 6T~~bn~ .S~UGi>.SGTr U~~IJLOrT.S 6l..l!iJ§J aa:l)€lSJ@bnQ)? 

(A) 90 

(C) 9 

STAT/15 34 
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89. A random variable X has the probability function 

X: 0 1 2 3 

P(X): k 3k 3k h 

Find P(X ~2) ,, 7 
(B) 

3 - -
8 8 

(C) 4 
(D) 

1 -
8 8 

X: 0 1 2 3 

P(X): k 3k 3k h 

P(X ~ 2 )~ Ln%1LiL.J e;rr~e;. 

(A) 
7 

(B) 
3 -

8 8 

(C) 4 
(D) 

1 - -
8 8 

90. A card is drawn from a pack of cards. Find the probability of getting a king card or a spade 

p 

card. 

(A) 
17 
52 

,,../ 16 
, 52 

JBle;w~e;QJ e;rr~e;. 

(A) 
17 -
52 

(C) 
16 
52 

35 

(B) 

(D) 

(B) 

(D) 

14 
52 

30 

52 

14 
52 

30 

52 

• 
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91. A bag contains 4 white and 2 black balls another bag contains 2 white and 4 black balls one 

of the two bags is selected at random and two balls are drawn from it. Find the probability 

of getting two white balls. 

(C) 
6 

30 

7 (B) . 
15 

(D) 
1 

30 

~® Q>uuSlQ> 4 QQ.JroQ>GTT, 2 $(!9ULJ U_lli§Ja;~tb L.O!i>G!DIT® Q)LJuSlGU 2 QQ.JroQ>GTT, 4 $(!9UL.j ufe§Ja;~tb 

tLrowm. qCfDWJtb ~® mumUJ CfbiT61.J Ga:u:..i@ <:::!!>l~6l5l®fe@ @1J~@ ufe§Ja;6Tr Gr@8;a;uu@£lm!Dm. 

@1J~@t.0 QQ.JroQ>wUJrra;@®uu!h!Da;rrm .ffila;w~a;61.l Grmm? 

(A) 

(C) 

7 
30 

6 

30 

(B) 

(D) 

7 
15 

1 
30 

92. The probability that the Arun can solve the problem is .! , that of Bala is ~ and that of 
5 3 

Krishna is ~. If all of them try independently, what is the probability that the problem is 
7 

solved? 

(A) 
4 

(B) 
9 -

105 105 , , 
101 

(D) 
24 

-
105 105 

~® a;6WT.$ma; ~rruu!h!D~rr6l!T <:::!!>l@~m .ffila;Wfha;61.l i. urrQ>rr61Slm .ffila;W!ha;61.l ~ L.OtD!PJtb .i1(§.~6Wrrr'"5lm 
•' 5 3 

.IBJa;~fh.$61.J ~ GT~ru CYlQJ®t.O fh~~fb~CUJ QPUJ!i>6l~fhrrru, <:::!!>lfefh8l a;6WT.$@5 ~rrQJQ>LQ.Jfb!Da;rrm .IBJ•wp;a;61.J 
7 . . 

(A) 

(C) 

STAT/15 
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105 

101 
105 

36 

(B) 

(D) 

9 
105 

24 
105 
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93. Standard deviation is also known as 

(A) Co-efficient of standard deviati~n 

~ Root mean square deviation 

(C) Co-efficient of mean deviation 

(D) Co-efficient of quartile deviation 

94. The mode of the following set of values : 

6~ 6~ 7~ 73, 75, 7~ 70;80, 83, 86is 

(A) 75 

Jiii" 70 

(C) 74 

(D) 72 

65, 68, 70, 73, 75, 70, 70, 80, 83, 86 

~.$lUJ u:i%JuLJa;G'ff1Qr QPa;© 

(A) 75 

(B) 70 

(C) 74 

(D) 72 

p 37 
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95. If the CV is 5 and S.D is 2, find mean 

(A) 10 

(C) 400 

(A) 10 

(C) 400 

~o 
(D) 4 

(B) 40 

(D) 4 

96. Karl Pearson's coefficient of Skewness is 0.32, its SD is 6.5 and mean is 29.6. Find the mode. 

(A) 31.68 

(B) 36.1 

(C) 23.l 

glf 27.52 

(A) 31.68 

(B) 36.1 

(C) 23.1 

(D) 27.52 
.. 

• 

97. Determine the mode if the AM is 20 and median is 19 

(A) 2 

wf 17 

(C) 97 

(D) 39 

(A) 2 

(B) 17 

(C) 97 

(D) 39 
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98 For a distribution the mean is 10, variance is 16 and µ 3 is 64, then y1 (coefficient of 

skewness) is 

(A) 0 ,,1 
(A) 0 

(C) 1 

(B) 0.5 

(D) 0. 75 

(B) 0.5 

(D) 0.75 

99. The Geometric mean of 10 observations of a certain variable was found to be 2. It was later 

p 

discovered that one of the observations was wrongly recorded as 16 instead of 4, then the 

correct geometric mean is 

(A) (1024f1° 

(B) (512fl0 

,,, (256 J'lO 

(D) (264f110 

Vl® LDrr!DJt61Qi 10 LD~u1...je;Glt1Qi Gu@8i®8: a=1Jrr6ifl 2 ~~ e;~di$1LuuL..Lt91. t5lQiL..j ~fbfb LD~u1...je;Gtt1ru 

4 ~Qrf!) LO~ui.Sl!D® U~Q)ITB; 16 ~Qrf!) l.O~U6"6>U fDQJ[j)lfDQ)ITB; a6r'rdie;uuL..Q;l"1r"1T§J GfbiTlUJ QJ(!9$lfDt91, ~~ru 

(A) (1024 j'10 

(B) (512f10 

(C) (256 J'10 

(D) (264J'10 
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100. In life table, qx is calculated by the formula 

(A) ~ J rx (C) 
dx lx 

~ll.jGlr ~LLGl.Hill~uSlru, qx -t:Ei B;6Wf8i..tlL SLpJGl..fLD ~~~l}"LD 

(A) ~ (B) 
dx 

101. A stationary population is 

(A) cannot be stable 

~always stable 

(C) need not be stable 

(D) sometimes stable 

)Bl61>ro~p; LD6>s;mQp;rrQ>s; 6T~u~ 

TX 
lx 

(A) JB1Q>ruwrrmi2>rrs;@@Bis; Cy:>t.q..UJrr~ 

(B) ~n.JGurr@~t..O )BlQ)rowrrmp;rr@)t..O 

(C) )BlQ)Q)UJrTmi2>rrs;@®.$s; ~6l.J61wt..6lru61>QJ 

(D) 61ru a}Ii 1yrf.1s;61ft ru )Bl Q)Q) UJ rrm~ 

(C) 

dx 

lx 

dx 

lx 

102. The ratio of births to the total deaths in a year is called 

(A) survival rate 

(B) total fertility index 

/ vital index 

(D) population death rate 

(D) 

(D) 

~® Gl.J@)L~~ru. i5l!DUL.j6l@)t..O. QLDrr~p;@!DUL.j8l@)LD @Q)Lawturrm QSl..tlp;t..O 6r~U~ 

(A) st.uSlrrrurr~ 6Up;t..O 

(B) . GLDrr~p; .S(l!)QJQT.$ ®!DliD@ 

(C) ~uSlrr ®!DliD@ 

(D) LD6;s;mQp;rrQ)s;uSl~ @!Duy 6Ui2>t..O 

STAT/15 40 
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• -

103. A life-table consists of 

(A) seven columns 

(C) nine columns 

(A) ~@~rr"1>.sm 

(C) v:i~u~ ~rr"1>.sm 

(B) eight columns 

iJl'f" eleven columns 

(B) GTL@~rr6U.sm 

(D) u~Q~rr~w ~rr"1>.sm 

104. The age specific death rate for the babies of age less than one year is called 

(A) neo-natal mortality rate "1' infant mortality rate 
• 

(C) maternal mortality r ate (D) foetal death rate 

(A) l.9JDLiGriu8' 1rrrrr[t~ @!Duy 6U~i.O (B) ®WtbGrl~ @!DUY 6U~i.O 

(C) ~rraitu8= 1rrrl'r/b~ @JDuy 6U~i.O (D) QP~l'r .S® @!Duy 6U~ 

105. Vital statistics are customarily expressed as 

(A) percentages JJlf' per thousand 

(C) per million (D) per trillion 

(A) 1r~~..t1~fi;~6i> (B) ~uSlrri.0 Sl~1JJJ8i@i 

(C) uS1"1>QSltu~ SlGM1JJJ8i@i (D) QPLIU!q- uS1Q>Q$ltu~ ~6&Tgll8i@i 

100: Complete count of the heads of people of a country is known as 

y census 

(C) demography 

(A) @>@.$ .s6Wfluy 

(C) LD8i.smltuQ> 

p 41 

(B) vital statistics 

(D) population 

(B) :LuSl rr y 6ir61ft uSl tu Q:i 

(D) LD8i.sioiTG~rrQ>a; 
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107. The fertility of a woman in India is maximum in the age group 

(A) 15-20 (B) 20-24 ; 25-29 (D) 15-29 

.@.[>~lLirr~G\> Qu~~Qr 8i(!96l.JGTTLO ~~8iUL8'LDIT8i .@®6;®1..0 61.JllJ~ 

(A) 15-20 (B) 20-24 (C) 25-29 (D) 15-29 

108. 10 LET P$ = "55" 

20 LET Q$ = "20" 

30 PRINT Q$ + P$ 

What is the output? 

(A) 75 (B) 20 ?!' 2055 (D) 5520 

10 LET P$ = "55" 

20 LET Q$ = "20" 

30 PRINT Q$ + P$ 

.@~Qi QQJffihO@ GTQrQT? 

(A) 75 (B) 20 (C) 2055 (D) 5520 

109. 10LETS=1 

20 FOR I = 1 TO 3 • 

30 LET S = S + 2 * I 

40 NEXT I 

50PRINTS 

Value of S = 

(A) 6 ~ 13 (C) 1 (D) . 12 

10LETS=1 

20 FOE, I= 1 TO 3 

30 LET S = S + 2 * I 

40NEXTI 

50 PRINTS 

S-Qi LD~ULj 

(A) 6 (B) 13 (C) 1 (D) 12 
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110. To solve LPP, it must be expressed in 

(A) genei;al form 

;pl' standard form 

(A) Q u rr~6lmm 6l.J tq.6l.J Lb 

(C) ~LL Glllq.6l..ltb 

(B) canonical form 

(D) matrix form 

(B) ~U.JlDm Glltq.6l..ltb 

(D) <:!91 ~ 6l.J lq.Gll Lb 

111. In standard form of LPP, the right hand side of each constraint is 

Jill' non negative 

(B) non positive 

(C) O 

(D) either non negative or non positive 

(A) @JQ>!DU.JW!D~ 

(B) uSlQ><"EU.JJDJD~ 

(C) 0 

(D) @JQ>JDU.J!f>JD~ ~ruQ)~ uSlQ><"EU.J!f>JD~ 

112. In general LPP, all the constraints except non-negativity restriction are 

(A) 

(C) 

~type 

= type 

(B) ~ type 

.JJl'f ~ or = or ~ type 

Qurr~Gllrrm C,!!ifrCa;rrL.@ ~OOLDLIL..Jfb ~L.Lfi;~ru. @)6'6>JDU.J!f>JD a;L.@uurrL.6'6>Lfb ~GlSlrr LDrD!D <:!916'6>m~~8> 

a;L.@uurr@a;Glflm QJQ>a; 

p 

(A) 

(C) 

43 

(D) ~ or ;:;:; or ~ 6l.J6'6>Bi 
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113. In canonical form of LPP, the objective function is of 

/ Maximization type 

(B) Minimization type 

(C) Either maximization or minimization type 

(D) Neither maximizat1on nor minimization type 

(B) 6'1WJLDLDrr6;B;Q) 6l.lmB; 

(C) GuQ9LDLDrr.$.$6i> ~ruru~ 6'1WJLDLDrr8;B;Q) QJmB; 

(D) GuQ9LDLDrr8;B;6\.J 6l.lmB;@rumro LD!i>IDJL.b 6'1.(p!LDLDrr8;B;6\.J 6l.lmB;tyt.0@6\.Jmro 

114. In feasible solution is the solution which does not satisfy 

(A) Constraints 

(B) Non-negativity restriction 

jilf Both constraints and non-negativity restriction 

(D) Objective function 

(A) <$L@uurr@B;6Tr .. 

(B) ®~w~wwB;L.@uurr@ 

(C) B;l..@uurr@B;m- LD!i>IDJL.O ®mw~ww B;l..@uurr@ 

STAT/15 44 
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115 Decisioh variables in an 0 .R JllOdel are 

Jill' Controllable (B) Uncontrollable 

(C) Parameters (D) Constraints 

O.R u>rr~ITl~ro ~rnnrrQf LOrr!Dla;Gir GTQrU~ 

(A) a;L.ffiluu@~~diBfl.tq.lUQ)QJ (B) a;L.@uu@~~ QPtq.lLirr~Q)QJ 

(C) uEiWrumQ)QJe;Gir (D) LO rr!Dl Q$l $GIT 

116 Operation Research came into existence 

, (A) in the year 1940 

' (B) during World War I 

Jill" during World War II 
. 

(D) both (A) and (B) 

(A) 1940-tb QJ(!!)Ltb 

117. If there are n workers and n jobs, in an assignment problem there would be 

JJlf n assignments (B) n ! assignments 

(C) (n - 1) ! assignments (D) (n !) n assignments 

(A) 

(C) 

p 45 

.. 

STAT/15 
[Turn over 

www.upscstudymaterials.com



118. ·If Fisher's index number is 120 and Paasche's index number is 80 find Laspeyre's index 

number. 

(A) 200 

?I' 180 

(B) 40 

(D) 100 

t.Sl~rr ®!!51u5L...Gum LDfD!J)JLD urrffil~u5l6isl ®!!51u5L...Gum @Q'l!D~UJ 120, 80 6r~ro Q)rrffilt.SlUJrTl6isT 

®iD1u5L..GuwQlEiWT.S s;6Wr@t.Sl~. 

(A) 200 

(C) 180 

(B) 40 

(D) 100 

119. The most popular method of computing consumer price index is 

(A) Consumer method 

~Family budget method 

(B) Rank correlation method 

(D) Regression method 

· 120. The price changes under chain base method is called 

(A) Price relatives 

~ Link relatives 

(C) Fixed index 

(D) Variable index 

(A) EiU1 Q)Q) E>U1£1~L.O 

(B) @Q)EiWf E>U1£1~L.O 

(C) .@Qlru~~ ®J6hoL...GL6Wr 

STAT/15 46 

' 

p 

www.upscstudymaterials.com



121. The geometric mean of Laspeyre's and Paasche's price indices is also known as 

Jiii' Fisher's Price Index 

(B) Kelly's Price Index 

(C) Drobish Bowley Price Index 

(D) Walsh Price Index 

rurr~tSlu.H'r LD!i>©Jtb urr6'115lu5lm 66lmru ®!61u5L...Gum~m Gu®ci;® a:l)rra:rfl 6T6Mu~ 

(A) tSl~rfl~ 66lmru ®iDJu5L...GL~ 

(B) Q.g;ru601 u5l~ 661 Q)Q) ®!Dl u5 L... Q u;wr 

(C) L...qrrtSl~L... Gu~60 661Q)60 ®!61u5L...Gum 

(D) 6lJ rrru~ 661Q)ru ®!Dl u5 L... Q uiliirr 

122. The difference between the quantity indices due to Laspeyre and Paasche is called 

""' Formula error (B) Sampling Error 

(C) Homogeneity error 

(A) QJ mi..H.J u rr@ tSl mw 
(C) ~al) 66l~LDIT~ tSlQ)w 

(D) Nil Error 

(B) &GJD@LiLl tSlQ)W 

(D) l::J,~~llJ tSlQ)W 

123 Cost of living index is same in general as 

p 

(A) Laspeyre' s Index 

(B) Correlation 

Jilf' Consumer price index 

(D) Paasche's Index 

QJrrwci;Q).g;6: Ga=ru6lJci; ®!Dlu5L...GL~ 6T~U§J Gurr§JQJrre; a=tntnrr.s $(!!)~Liu@QJ§J 

(A) Q) IT~ tSl UJ if1 Qr ®!61 u5 L(;;) L6liGT 

(B) ~L...@!!J6lJ 

(C) @e;rTCQJrrrr 661Q)Q) ®!Dlu5L...GL6liGT 

(D) urr~~ ®!61u5L...GL6liGT 

47 
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124. Which component of time series is related to earthquake in a region? 

, Irregular (B) Cyclical 

(C) Seasonal (D) Trend 

(A) ~@r6Ja;!D!!' 

(C) U(!!)QJc$rT61)i.b (D) ~urrc!i;® 

125. Ratio to moving average is used to measure the following component of time series 

(A) Irregular variation Jl1f"' Seasonal variation 

(C) Cyclical variation (D) Secular Trend 

a;rrrutb a:rrrr Q~rrLrr 6l.JrTlQ>a:uSlru £wa;~L 6Tf:6~ &.roJ ~m661L J!ia;®i.b a=1Jrra=rtluSl6M" 661.$l~C!PG'G)!!>6&">lLI 

uLUmu@~§J.$1!!>§1 

(A) ~@ffila;!D!!> umroiurr@ 

(C) a;~!D5l wrrroiurr@ 

126. Which method is not suitable to measure seasonal variation? 

(A) Link relative method 

~ Semi -Average method 

(C) Ratio to Moving Average method 

(D) Ratio to trend method 
*' 

(C) JJ>a;®i.b a:1Jrra:rtluSl6M- 661.$1~ (!PQ>!!J 

(D) ~urrc!i;® 661.$1~ QP6&">!J) 

STAT/15 48 p 
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127. Seasonal variations create problems for 

(A) individual ffrm 

(B) economy 

y · both individual firm and economy 

(D) neither individual firm nor economy 

128. In linear trend Y =a+ bX if there is a declining trend b value is 

(A) positive 

~negative 

(C) O 

(D) 1 J . 

(C) O 

(D) 1 

p 49 
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129 The additive model of a time series is 

vi' T+S +C+ I 

(C) T+SCI 

(A) 

(C) 

T+S+C+I 

T+SCI 

130. The straight line trend Y =a+ bX is fitted by 

¥Jlf' method of least squares 

(C) simple average method 

(A) ®~!D.lli~ Gt.11'r8>e; QP~!D 

(C) Gr61fllU a:!Jrra:ITI C!P~!D 

(B) TS +CI 

(D) T+S+CI 

(B) TS+CI 

(D) T+S+CI 

(B) method of moving averages 

(D) link relative method 

(B) JDe;®t.0 a:!Jrra:rtl QP~!D 

(D) @~~ 12-!DG'l..J QP~!D 

131. A trend equation of the type y =a+ bx+ cx 2 is called 

(A) Linear trend 

Jlllf Quadratic equation 

(C) Gompertz equation 

(D) Cubic equation 

(A) CJ!ifrGe;rr@ Curr.$® 

(B) @@Liu~~~rr~ a:to~urr@ 

(C) e;rrt.OufrL...w a:to~urr@ 
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132. The type of chart used to control the number of defects per unit of output is 

(A) 

(C) 

(A) 

(C) 

X-chart 

P-chart 

x -6UQ)I) 

p - 6l.l 6ID I) 

(B) R-chart 

IJi1!' C - chart 

(B) R- 6UQ}IJ" 

(D) C - 6UQ}IJ" 

133. The sampling process associated with 'C' chart is described by 

134. 

p 

/Jiff' Poisson distribution 

(B) Normal distribution 

(C) Erlang distribution 

(D) Binomial distribution 

(A) u rni.Js:rr~ u rrru6'.> 

(B) ~ lLI~JBJQ)Q) u 1)6l.l Q.> 

(C) GTrTQ>rrffi.J Ul)QJQ.> 

(D) R'Q!)IDJULj Ul)6l..J~ 

Chi Square distribution is 

~ Continuous distribution 

(C) Symmetrical distribution 

6ID<'£6l..JrT.S<'£U Ul)6l.JQl GT~U~ 

(A) Q~rrLir8:6ltLJrr~ urr6l..Jru 

(C) lfl!l 8:6ir u 1)61.J ru 

(B) Multimodal distribution 

(D) Discrete distribution 

(B) uroQPB;® urr6l..Jru 

(D) Q~rrLir8:6l tLJ)i>~ urrruru 
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135. For a double sampling plan, the average total inspection is given by 

~ ''1. + n2 (l- Pai}+ (N -11-i - n2)(l-Pa) 

(B) 1'1. +(N-Tii. -n2 )(l -Pa) • 

(C) 1'1. + n2 (1-Pai}+ n1 (l-Pa) 

(D) (n1 - n2 )(l-Pa1)+ n2 (l-Pa) 

(A) 1'1. +n2 (l-Peli_)+(N-1'1.-n2 )(l-Pa) 

(B) '1-i +(N-1'1. -n2 )(l-Pa) 

(C) 1'1. + n2 (1-Pa1 )+1'1. (l-Pa) 
, 

(D). (n1 -n2 )(l - Pa1)+ n2 (l-Pa) 

136. In systematic sampling, the sampling interval 'k' is 

(A) 'Irv 
(B) n 

(C) nN 

pf % 

@m!Dlll6DL8i enJJSlru, enJJSlm @mLQruGTfl k ~mu~ 

(A) 'Irv 
(B) n 

(C) nN 

(D) % 
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137. In double sampling plan always 
sample(s) are taken. 

rJ,11" one 
(B) two 

(C) three 
(D) four 

~® @® &.11)1 ~LL~~Q) 6TLiQurrQg§JlD 
&.11)1( e;~) 6T@.9>e;UUL GGl..l~@tb . 

(A)' ~~11)1 
(B) @JJ~@ 

(C) CYl~W 
(D) p;rr~@j 

138. The probability of rejecting a lot having p as the process average defectives is known as 

(A) Consumer's risk 

(B) Type II error 

Jllf" Producer's risk 

(D) Type I error 

(A) ~e;rraGl..Jrrrrl~ @Lrrurr@ 

(B) @JJ~L!TLD Gl..l6J>e; iS'l61>W 

(C) ~!iJu~~UJrrmrrl~ @Lrrurr@ 

(D) @~ro Gl..J6J}e; iS'l61>W 

' 

139. Completely randomised designs are mostly used in 

p 

(A) Field Experiments 

Jilillf" Pot Experiments 

(C) Experiments on animals 

·(D) Patient in an hospital 

. . 
@QgQ>LDUJrre; ~G~66rl8'UJrTMUULL ~LLLD Gu(!!)tburr~tb UUJ~U@Gl..l~ 

(A) e;m.9> s;~B;Qe;@u4 urrlaa:rr~6J>m 

(B) urr6J>m urrlGa:rr~mm 

(C) 615\rurfil®e;~ urrlGa:rr~mm 

(D) tn60fl~ urrlGa:rr~~m 
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140. In ANOVA, the total variance is splitted into 

(A) Equal variance 

; Component variances 
.. 

(C) Ratio of variances 

(D) Sum of the variances 

ANOVA-Q> QLDrrp;~ LDrrwurr@<'hm------ G;T'6aT t5lifl8.;<'huu@8il6&TJDm. 

(A) 6LDLDrrroiurr@<'hm 

(B) &iPJ<'hml6&r LDrrroJ u rr@<'hm 

(C) LDITroJUrr@<'hGTfl6&r ~8iJ~t.b 

(D) LDITroJ U rr@<'hGTfl6&f Bn@~Q> 

141. The allocation of treatments to experimental units with equal probability is known as 

(A) Equal allocation (B) Replication 

~ Randomization (D) Local control 

(A) 6LD u.rliJSi@ 
(B) ~®t.bu6 Qe:IJJ$liru 

(C) 6l.JrruJut51L_L ~LLt.b 
(D) @Lt.be:rrr'r~$li a;l_@uurr@ 

142. The experiment to evaluate the combined effect of two or more experimental variables when 
used simultaneously is • 
(A) CRD (B) RBD 

(C) LSD ~ Factorial experiments 

(A) CRD (B) RBD 

(C) LSD (D) U®~ ~@UU6 C:e:rr~Q>6aT 
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143. In general, the ratio of two variances in F test is 

(A) equal to one 

(~more than one 

(A) ~Qr!!)!.$® a:tnlii 

(C) ~Qr!PJ.$® aLDJDULL~ 

(B) strictly less than one 

(D) always equal 

(B) .@ifa:UJLii VlQr!PJ.$® ®Q}!D6\J 

(D) 6ruGurr@~Lii a:tnlii 

144. One of the following experiments suited only for small number of treatments and for 

homogeneous experimental materials 

{Ill' CRD 

(C) LSD 

(B) RBD 

(D) Factorial experiments 

£~s;~L aa:rr~Q)QTs;rolru 61!!51UJ 6f~~a;Q)e; Ge;rr~L uITlaa:rr~Q)QT LDJD!PJLD 6!51P,~UJIT8'LDJD!D as:rrp;Q>m 

6fmU~ 

(A) CRD (B) RBD 

(C) LSD (D) U®~ ~@~ud: Ca:rr~Q)m 

145. The partial design used in agricultural trials in order to eliminate fertility trends in two 

directions simultaneously is 

(A) CRD ~RBD (C) LSD (D) BIBD 

Vl®)'l>Q)Q) uL..a:LDrrQT ~L..LuSl@)'l>ru 6!SlQJa:rrUJ ~1Jrrti..J8:6lu5lru uUJQru@QJ~. ~wuP,~ ~Q>a: ffi.$®QJ~. via1J 

s:LDUJ~~ru .@1J~@ ~Q)s:s;mlru 6fQru~ 

(A) CRD (B) RBD (C) LSD (D) BIBD 

146. In a 4 x 4 Latin square design column degrees of freedom is 

(A) 4 (B) 16 

(A) 4 (B) 16 

p 55 

(C) 9 ~3 

(C) 9 {D) 3 

STAT/15 
[Turn over 

www.upscstudymaterials.com



·. 

147. The criterion which is used to cla"ssify various sampling units into different strata is 

known as 

(A) Sampling variance 

(B) Sample mean 

(C) Strata variance 

JI( Stratifying factor 

(A) ~!PJ LOITWJUIT@ 

(B) ~WJ 61J"IT6rll 

(C) u@Q'lB; LOIT!))JUrr@ 

148. A method of selecting the samples under SRSWOR is 

Jiii' Random number table method 

(C) Graph method 

(B) Simple method 

(D) Judgement method 

(B) ~61ft UJ QP6!> !D 

(D) ~r'rLil..l QP61>!D 

149. Stratified sampling is not preferred when the population is 

(A) Sample 

(C) Heterogeneous 

(A) Bi\.!PI ~®Lb 

(C) UQ)~~LOIT~~ 
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150. Neyman-Pearson tests are designed to test 

rJll' statistical hypothesis only 

(B) 

(C) 

for estimating the parameter 

small sample 

(D) large sample 

GJ!ilLiLD6UT-t.SlUJrr~6UT ~e:rr~6b">m6b">UJ GU®UUt9J <ar~!DGt»~ro 

(A) LjGIT~UJru Lj6b">m61.4~t»rr~8;® wL.@i..D 

(B) Ul)rTLDLL6b">I) ~~~~6lUUt9J 

(C) 6lp51UJ LDrr~rfl 

(D) GurflUJ wrr~rfl 

151. Under SRSWR the variance of the sample mean is 

(A) 
N - n 2 (B) (N-n)s2 --s 
Nn 

1111' N - 1 2 (D) (N-l )s2 --s 
Nn 

SRSWR-6Ul £~. &.WJ e:rrrre:rflu51m wrrlPlurr@ ~6Ulul9J 

(A) 
N-n 2 (B) (N-n)s2 --s 
Nn 

(C) N - 1 2 --s 
Nn 

(D) (N- l)s2 

152. The relation between the population variance and sample variance is 

(C) 

(A) 

(C) 

p 

2 N-1 2 a =--s 
N 

2 N - 1 2 a =--s 
N 

Na2 =s2 

(B) 

(B) a2 = s2 

(D) a 2 =(N-l )s2 
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153. In SRSWOR, finite population correction is given by 

154. 

(A) 1-N 

~1-n/N 

(A) 1-N 

(C) 1- n/N 

(B) 1-n 

(D) n/N 

(B) 1-n 

(D) n/N 

In SRSWOR, the sampling fraction is given by 

(A) s2 ~n/N 

(C) N/n (D) n 2 -s 
N 

SRSWOR-m £~ 8'!..W t.5lm6MLDfT~~ 

(A) s2 (B) n/N 

(C) N/n (D) n 2 -s 
N 

155. The alternative hypothesis for a right tailed test for testing the mean of a population 

H0 :µ =µ 0 is 

(A) H1 :µ<µo 

~ H1:µ>µ0 
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156. Type I error is defined as 

(A) Reject H0 when it is false 

(B) Accept H0 when it is true 

rJilf' Reject H0 when it is true 

(D) Accept H 0 when it is false 

0:PfhQ.J 6l..JmB;u t5lmw GT6irru§J 

(A) GT@aa;rr6lr fh6l..l!J)fft$ .@®Jb§J JDLD§J a8'rr{hQ">QT LDroJSia;uu@.$1!!)~ 

(B) GT@aB;rrGIT 6ifllUrrB; .@®PJ§J JDLD~ as:rr{hQ">QT GJ!i>roJ8>GB;rrm6U§J 

(C) GT@aB;rrGIT s:ifllUrrB; .@®.ffi~ JDLD~ as:rr{hQ'>QT LDroJSit$UU@.$11D~ 

(D) GT@aB;rrGIT {h6l..J!Dfft$ .@®.ffi~ JDLD~ a8'ff{h(;'6)~ GJ!i>roJSiQB;rrGITQJ~ 

157. What is the value of chi square when observed and expected values are so equal? 

(A) 

(C) 

-1 

>1. 

(A) -1 

(C) ~~m!DGlSlL ~Jblt$tb 

(B) +1 

gJlf' 0 

(B) +1 

(D) 0 

158. Type-II Error is 

p 

(A) Reject H 0 when H0 is true 

(B) Reject H0 when H0 is false 

~Accept H0 when H0 is false 

(D) Accept H0 when H0 is true 

Type-II t5lmw GT6irru§J 

(A) H 0 P-..~(;'6)LDlLJrrB; .@®Bi®tbGurr@~ )blJJrrB;ifl~{hQ.J 

(B) H0 QumulUrra; .@®Bi®tbGurr@~ )bl1Jrr6lrrl~fh6U 

(C) H 0 Gurrli..JlUrrB; .@®Bi®tbQurr@§J GJ!i>roJB>Ga;rrm~{hGU 

(D) H 0 :2....61i!rr6U'JLDUJrrB; .@®Bi®tbQurr@~ GJJ:i>roJSiQB;rrm~{hGU 
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159. The value of z2 statistic for 2 x 2 contingency table ~ is 
~ 

2 N(ad ..i. bc)2 

x =------------ -
(a +b )(c+ d)(a+c)(a+d) 

(A) 

,..,/ 2 N(ad-bc)2 
J" Z = (a+b)(c+d)(a+c)(a+d) 

(C) 2 (ad-bc)2 

z = 
(b+c)(b+d)(a+c)(a+ d) 

2 N(ad- bc) z = 
(a+b )(a+ c)(a+ d)(b+ c) 

(D)· 

IOTQr!D 2 x 2 G.lJir'r6l.JuuL..1q-UJ"5'lQ> z2 --Q-r 1Dfbluy 

' 

(A) 
2 N(ad+bc)2 

z = (a+ b )(c+d)(a+ c)(a+ d) 
t 

(B) 2 N(ad-bc)2 

z = 
(a+ b )(c+ d)(a+ c)(a+d) 

(C) 
., (ad-bc)2 

x-
(b+c)(b+ d)(a+c)(a+d) 

(D) %2 N(ad-bc) 
(a+b )(a+ c)(a+ d)(b+ c) 

160. For a paired t -test, the test statistic is given by 

Jllf' t = d: Is/ .r,; 

(C) t=x/ a/ /;, 

(B) t=(Xi -x2)/ s/rn 

CD) t=x/s/rn 

(A) t=d/s/Fn (B) t=(x1 -x2 )/s/J;, 

(C) t=x/o/Fn (D) t=x/s/J;, · 

• 

) . 
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161. 10 LET A$ = "INDIA" 

20 LET B$ =RIGHT$ (A$, 3) 

30 PRINTB$ 

What is the output? 

(A) AID (B) IND 

JJlf' DIA (D) NDI 

10 LET A~= "INDIA" 

20 LET B$ =RIGHT$ (A$, 3) 

30 PRINT B$ 

@fiim G6l..l6TlluS'@ 6fm6m'? 

(A) AID (B) IND 

(C) DIA (D) NDI 

162. The test statistic for testing a binomial type of problem is 

(A) 
X - µ Z=--

(j 

~ X-np 
= ~npq 

(C) 
X-µ 

(D) z= X-np 
z = a/..Jn a/..Jn 

(A) 
X-µ 

(B) 
X-np z=-·-- z-

(j - ~npq 

(C) 
X-µ (D) z= X-np 

z = a/..Jn a/..Jn 
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163. Let E(Ti_)=BE(T2 ), where T1 and T2 are the linear functions of the sample observations. If 

V('.fi) :S V(T2 ) then 

(A) Ti is an unbiased linear estimator 

~ T1 is the best linear unbiased estimator 

(C) T1 is a consistent linear unbiased estimator 

(D) Ti is a consistent best linear unbiased estimator 

E(Ti_)=BE(T2 ) ~ms;. T1 LD!i:>!),Jltb T2 s;~q&Jiip:; LD~uys;mlm ~®u~B: <'frrr'ry ~®Lb, V(Ti_) :S V(T2 ) 

~QflQ) . 
(A) Ti ~mu~ i.Sli:vwa:6lUJii:>!D ~®u~ LD~uoL...Lm6f>QJ 

<B) Tl ~® 6li:vJiip:; i.Sli:vwa:6lUJfbi:v ~®U~ LD~UOLLGlTQ)QJ 

(C) Ti ~® Qurr®~tDLDrTQT ~Q!)U~~~rTQT i.Sli:v~6:61UJ!i:>!D LD~UOLLGITQ)QJ 
(D) T1 ~® GurrQ!)~p:;LDrrQT u5ls;6 6li:v.llitD ~® u~~~rr6m i.Sli:v~66lUJii:>!D LD~uoL...LGTT6f>QJ 

164. 95% confidence limit for µ when o-2 is known and n is large in 

r/ (x -196 :Jr., x + 196 :Jr.) 
(B) 

(C) 

(D) 

n LD~uy QuITlUJ~ LDJi:>!).lJLb o-2 LD~uy Q~ITlu..itb Qurr@~ µ -6l51Ji:><"£rrQT 95% ,!J)Lbi.S1.$6f>s;@6f>LG6llml 

(A) ( x - 1. 96 ~ , x + 1. 96 ~) 

(B) 

(C) 

(D) 
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165. 1 For an exponential distribution with parameter 
8 

estimator of 

(A) 
1 

(B) 
1 -

82 8 

,I' 8 (D) 82 

• 

the estimator r.Xi is an unbiased 
n 

.!.. GTQrrjD UQRrrUQTQ)QJ.$ Qe;rrQRrrL ~@B;@)Li Ul}"QJ@)J.$@). r.xi GTQrr!!) LD~ut.S'L.LGCTQ)QJ t5)QrrQJ(!9QJQTQJJDQl!!) 
8 n 

t5l !D w66l UJ !i>!D LD~ LI t5 LL61TQ)QJ UJ rr e;.$ Qs;rrEWrLfDIT@)LD 

(A) (B) 

(C) 8 (D) 

1 

8 

166. For an estimator to be consistent, the unbiasedness of the estimator is 

(A) necessary 

JJJll' sufficient 

(C) necessary as well as sufficient 

(D) neither necessary nor sufficient 
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167. Formula for the confidence interval with (1- a) confidence coefficient for the variance (CT
2

) 

of the normal distribution N(µ, <:T2) when µ is known as 

~ [ 
2 ns

2 
2 l [ ns

2 
2 ns

2 l fir' P Xi-a12S-2 Sza12 =l-a (B) P 2 <CT S-2 - =l -a 
CT Xi-a/2 Xa/2 

(C) P [x!12 ~ ; 2
2 
~ Jd-a12] =a (D) P [ n:2 

~CT2 
< ~52 ]=a 

Xa/2 X1-al2 

N(µ , <:T2) @UJruJB)Q'lQ)Uu1J6l.JGISlru, µ LD~uy Q~rTll!..lL.bGurr@~· CT
2. -GlSl!DB>rr~ (1 - a) p;L.bt.Sl.$Q)8) 

@Q">LQQJQfl • 

(A) P[x~-a12 s : 2

2 

s z!, 2] = 1- a (B) P[ ~52 < CT
2 s n:2 

] =1- a 
v :li-a/2 Xa/2 

(C) P [x;,~ ~ ;: s x:-a12] =a (D) P [ n:2 
S<:T

2 s ~52 ]=a 
Xa/2 Xi-al2 

168. Let X1,X2 , ... Xn be a random sample for N(µ,<:T 2
) , where CT

2 is unknown. 100(1-a)°/o 

confidence limits for µ is 

(A) P ( X + ta · ~ < µ < X - ta · ~) = 1 - a 

(B) P ( x + ~ < µ <x - ~) = l - a 

Jiii" P ( X - ta · ~ < µ < X + ta · ~) = 1-a 

(D) . P ( x - ~ < µ <x + ~) = l -a 

N (µ, <:T2) ~~!D UIJ6l.JGl51Gl51(!9]5~ X1,X2 , ... Xn ~~!D c9ft!J)J ~@ci;B>uu@Bil!JJ~. CT
2 

µ -6lSJ~ 100 (1 - a f/o p;L.bt5l.$Q"l8i@Q">LQ6l.Jffil 

(A) P ( X + ta · ~ < µ < X - ta · ~) = 1 - a 

(B) P ( x + ~ < µ <x - ~) = l -a 

(C) P ( X - ta · ~ < µ < X +ta · ~) = 1-a 

(D) P (x-~ <µ<x+ ~)= l -a 
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169. 
For t distribution, f31 is always 

(A) positive 

(B) negative 

~ o 
(D) non zero value 

(A) ~!l'>IT)ooLUJITBi ~®8;@>LD 

(B) ~:$)fi\Q>LUJ~~a; ~@8;@>tD 

(C) 0 

(D) ~~UJin!D!D in:$)uurra; ~®B;®Lil 

170. The range of t - variate is 

~ 
(B) Oto oo 

-oo to oo 

(D) -oo to 0 
(C) 0 to 1 

t - inrr!D'uSI~ 65if6T 

(A) - 00 6151 ®iiJ~ 00 QJQ>I) 
(B) 0-6151@)i;~ 00 QJQll}' 

(C) 0-6151®iiJ~ 1 QJQ>I) 
(D) - 00 6151®~§1 0 QJQ>I}' 

171. Any population constant is called a 

(A) estimator (B) statistic 

(C) estimate Jlii!I' parameter. 

(B) c!m.(!)J U~UGITQlQJ 
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172. Mode of F distribution with u,, v
2 

degrees of freedom exists if 
(A) U1 > l 

(B) U2 > l 
(C) U2 > 2 ~1>2 

(A) v
1 

> l 

(C) U2 > 2 

173. The standard error of regression coefficient b,. is 

(A) 
(B) 

(C) 

(A) 
(B) 

(C) 
(D) 

174. 
The standard error of coefficient of skewness is 

~l/2n (B) Nn ~..j3/2n (D) Kn 
(A) 

~a;rrl...Ldi Qa;Qg~Qr ~LLLit516'6>w 

(A) ~l/2n {B) Nn (C) ..j3/2n (D) ..j3/n 

175. The mean of a chi-sq . uare distribution with 15 d.f is 

(A) 30 -~ ~ (C) 225 fir fo (D) 

(D) 115 
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176. If x~, x: and ;d are three indepen.dent z2 variates with nl' n 2, n 3 d.f. respectively, then 

177. 

x{ + x~ +xi are also x2 variates with ----- degrees of freedom. 

(A) 

(C) 

~1+n2+na 

The formula for Spearman's rank correlation is 

""" 
P = l -

6L.D2 

(B) P=l + 
6L.D2 

N 3 -N N 3 -N 

(C) p = 1 - 6L.D2 (D) P=l+ 
6L.D2 

N (N - 1) N 2 (N -1) 

GiutSlUJirGt0Qr60flQr fDIJ ~L..@!D6'..t C§~~IJLD e;rrooe;. 

(A) P = l -
6L.D2 

(B) P = l+ 
6L.D2 

N 3 -N N 3 -N 

(C) P = l -
6L.D 2 

(D) P = l+ 
6W2 

N(N-1) N 2 (N -1) 

178. Which one of the following equations are said to be "Line of best fit"? 

p 

(A) Y = abx 

Jiii!' Y = a + bX 

(A) Y = abx 

(C) Y = a+bX 

(B) Y =a+ bx 
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179. If r (X, Y) = 0.6, cov (X, Y) = 4.8 and var(X) = 9, then the standard deviation of Y is 

(A) 4 

(B) 2.33 ' . 

(C) 4.66 

Jl"f 2.67 

r (X, Y) = 0.6,; cov (X, Y) = 4.8 wd>roitb var (X) = 9, '1"~ru Y -~ ~L.LG\Slrud;.s;tb '1"~u~ 

(A) 4 

(B) 2.33 

(C) 4.66 

(D) 2.67 

' '. 
, { I ' 

0'2 
180. If var (X) = var(Y) = cr2

, cov (X, Y) = -, then var (2X -3Y) is 
2 

(A) 19cr2 

(C) 13.cr2 

(D) 6cr2 

2 

var (X) = var(Y) = cr2, cov (X, Y) = !!_, '1"~ru var (2X -3Y)~ LO~uy 
2 

(A) 19cr2 

(B) 7 cr2 

(C) 13 cr2 

(D) 6cr2 
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, i ' . ' 
181. Standard error is defined as 

(A) 
l-r2 

(B) 
1-r 

n n 

(C) l-r3 

Jllf'~ 
Fn ..[,;, 

182. If the annual trend equation is y =a+ bx then monthly trend equation is 

(A) 

(B) 

(D) 
b 

Ym =a+-x 
12 

(A) 
a b 

Ym = 12+12 x 

(B) 
a b 

Ym = 144+12 x 

(C) 
a b 

Ym = 12+144 x 

(D) 
b 

y = a+-x 
. m 12 
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183. If the correlation coefficient p = 1 , the angle between the two lines of regression is 

JJlf zero degree 

(B) ninety degree 

(C) sixty degree • 
(D) thirty degree 

(A) ld>~~U.JW UrTQ'ldi 

184. The statistic F for testing H 0 = /Jyx = 0 in regression analysis has degrees of freedom 

(A) (n-2) 

/ (1,n-2) 

(C) (1,n-1) 

(D) (2,n-2) 

(A) (n-2) 

(B) (1, n-2) 

(C) (1, n-1) 

(D) (2, n-2) 
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185. If A,B,C are mutually exclusive events, then P(A'.uBuC) = 

(A) P(A)P(B)P(C) 

~ P(A)+ P(B)+ P(C) 

(A) 

(C) 

P(A)P(B)P(C) 

P(A)+ P(B)+ P(C) 

(B) P(A)+ P(B)+ P(C)-P(A)P(B)P(C) 

(D) P(A)P(B)+ P(C) 

(B) P(A)+ P(B)+ P(C)-P(A)P(B)P(C) 

(D) P(A)P(B)+ P(C) 

186. If A1 , A2 and A3 are independent events then the probability of their joint occurrence is 

~ P(A1 )P(A2 )P(A3 ) 

(B) P(Ai)+ P(A2 )+ P(A3 ) 

(C) l-P(A1)P(A2 )P(A3 ) 

(D) P(A1 )P(A2 )+ P(A2 )P(A3 )+ P(A3 )P(A1 ) 

(A) P(A1)P(A2 )P(A3 ) 

(B) P(Ai)+P(A2 )+P(A3 ) 

(C) 1-P(Ai)P(A2 )P(A3 ) 

(D) P(Ai)P(A2 )+ P(A2 )P(A3 )+ P(A3 )P(A1 ) 

187. Normal curve is 

(A) very fl.at 

(C) very peaked 

~bell shaped 

(D) smooth 
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188. For a normal distribution 

I. mean = mode 

II. mean = median 

Which of the following is correct? 

(A) I only 

(B) II only 

Jll1' Both I and II 

(D) Neither I nor· II 

I. snL...@8: <'fl)"IT<'frfl = (!:Pa;@ 

II. snL...@8: a:l)"rra:rTl = @Q)LJblQ)Q) 

£wa;eiML6U!iJIDJGlr 61"~ a:rfl? 

(A) I LDL@LD 

(B) II LDL@Li> 

(C) I LDfD.g)ILD II 

· 189. The mean and variance of a rectangular distribution are 

(A) 

(C) 

(A) 

(C) 

STAT/15 

b-a (b-a)2 

-2-, 12 

b-a b+a 
_ 2_'_2_ 

b-a -- (b-a)2 

2 
1 

12 

b-a b+a --,--
2 2 

72 

-~a+b (b-a)2 

JJ'T - 2 ' 12 

(D) 

(B) 

(I?) 

b-a b-a 
_2_'_4 _ 

a+b (b-a)2 

--
2 ' 12 

b-a b-a ----
2 

1 

4 

p 
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190. The odds that a person X speaks truth are 3 : 2 and the odds that a person Y speaks t ruth 

a re 5 : 3. In what probability they are likely to contradict each other? 

(A) 

(C) 

8 
13 

5 

13 

-~~ 
~ 40 

(D) 
21 
40 

X ior~.$1!!> JDUIT ~~Q'JLD (!u8i6l.J~JD<!ErTQT ,lli!Q'l!D ~.$1~1.b 3 : 2 LDJDJ;91LD Y ior~.$1!!> JDUIT S?....~~LD 

(!u8i6l.J~JD<!ErrQT ,llil~!D ~.$1~1.b 5 : 3 ~@)Lb. ~6l.Jira;Gi'r, ~@G6l.Jrr@8iGa;rr@6l.Jir QPIJ"~UrrLrr.s au8i6l.J~!Da;rrQT 

,llils;w~.SQf IOT~QT? 

(A) 

(C) 

8 
13 

5 
13 

(B) 

(D) 

19 
40 

21 
40 

191. The sum of mean an d variance of a binomial variable is 3.5 and mean is 2. What is the 

probability of success? 

p 

y~ 
3 • (B) 
4 

(C) 1 -
2 

(D) 
7 -
4 

~® R'(!9J;91Ul..j LDrrJDlu5l~ &l..@6a:rrrra:rfl LDJDJ;91LD ~ru8i.s6l.Jir8i.s a:rrrra:rflu5l~ &@~ro 3.5 LDJDJ;91LD &l..@6a:rrrra:rfl 

2 ~@>Lb. G6l.J!DJDl8i.srrQT ,lliJ.sw~s;Gl..f ior~QT? 

(A) 
1 
4 

(B) 
3 

4 

(C) 1 -
2 

(D) 7 
4 
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192. The mean of a binomial distribution is 80 and S.D is 8. Find the value of n. 

(A) 640 

~ 400 

(C) 720 

(D) 88 

(A) 640 

(B) 400 

(C) 720 

(D) 88 

193. In a series, if co-efficient of variation is 20 and mean is 40, then the S.D is 

Jll!f 8 
( 

(B) 60 

(C) 30 , 

(D) 20 

~® Gp;rrLfilro. LDrrIDJG))l.$l~e;Ga;@ LDJDIDJLb &l.L.@ s:l]'rrs:fil (!flQ'l!DaUJ 20, 40 ~~ru. ~L.L G)))Q)S;s;~~m 

LD~u4 

(A) 8 

(B) 60 

(C) 30 

(D) 20 
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194. The data collected b · dir . 
Y m ect oral mvestigation method is 

(A) Secondary data 

(B) Qualitative data 

(C) Time series data 

/IJlf' Primary data 

LDbf>£D(Ylc$ 6l.Jrrti.JGLDrrWJ ~t.U6l4 u5l · . 
C!Jlbf>!J) QT ('.!PQ>lD as:c$if}.$®ti> 66J6l.JQ'rli!c$Qr ~mu~ 

(A) .@IJ~Lrrtb /blbf>Q) yEiiTQf) 66J6l.JQ'ti> 

195. If CV is 5, S.D is 2 and Karl Pearson's Skewness is 0.5 then the mode is 

(A) 39.5 

(B) 37.5 

.Jli1f' 39 

(D) 40.5 

(A) 39.5 

(B) 37.5 

(C) 39 

(D) 40.5 
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The mean marks got by 300 students in the subject of statistics are 45. The mean of the top 

100 of them was found to be 70 and the mean of last 100 was known to be 20. Then the 

mean of remaining 100 students is 

(A) 42 

(B) 48 

(C) 43 

J1lf' 45 
4<.irol\uliUJO> um ... ii>9)0>. 300 "'""""'" s;ol\6'T •grr •iii U>i!)UQu""1 45. C:U>!llili> U>i!)UQu""1 s;ol\6'T 

.o1"TUu<»1...uliO>. @I'°' 100 "'""""''"'ol\6'T •grr•ill 70 U>!iJ!Jlli> ""''-81 100 "'""""'irs;ol\6'T "1)rr•ili 20 

~~Q> t.O~@Giro 100 1.Drr~QJirs;ro1~ 61J1T6IT1 LD~uQu~ 

(A) 42 

(B) 48 

(C) 43 

(D) 45 

197. The mean and S D of runs scored b 1 A · . . . Y P ayer are 55, 4.2 and that of player B are 45 and 7 8 

respectively. Who is the consistent player? · 

~ A 
(B) B 

(C) Both (A) and (B) 

(D) Neither (A) nor (B) 

..sl<»mUJrrL(!) .Jlgff A-6'T •grr•ili 55 "'!iJlJllLl> i!JL.1- ..si.,uw 4 2 . . . . 
'610li;s;li> 7.8 <r..110> .e..,.,UJrrm .o . -• . . · ' '"1<»muJrr1...(!) .Jlgrr B-m •grr•oll 45 i!JL.e. 

!!'' blllOOroturrL@ blll}"IT lUITIT? 

(A) A 

(B) B 

(C) Au..itb Bu..iiD 

(D) A c:!9l ruru B-u..i Lb c:!9l Q.>Q) 
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198. What is the nature of distribution if the first three moments about origin are 1, 4 and 

10 respectively? 

Jiii!" Normal curve 

(C) Mean < Mode 

(A) @UJru.@6'>ru QJQ)6TTQJ6'>1J" 

(C) 8'1.l....@5 a:11rra:rTl < Q;Ptb@ 

(B) Negative skewness 

(D) Positive skewness 

(B) ~~rT ae;m.: .. Lt.0 

(D) ap:;rr ae;rrL....Lt.O 

199. The first four moments about origin are 1, 4, 10, 46 respectively. Then p1 is 

(A) 3 , 0 
(A) 3 

(C) O 

(B) 9 

(D) 24 

(B) 9 

(D) 24 

200. When class intervals are unequal, then the heights of the bars m the Histogram are 

proportionate to its 

p 

(A) Frequency of the class interval 

(B) Cumulative frequency 

~ Frequency density of class interval 

(D) Percentage of frequency of class interval 

l9rflQ{ @6f>LG16l.Jmle;m a:LDLDW!Dfhrre; fLm6TT Gurr@@ ~GU!D.a5l~ u11GUru Ga:6iJGUe; uL~~ru 12....m6TT 

ULQ)Le;ml~ :!LUJl)L.OIT61ll§J @GU!D.a5l!D@> ap:;rrGlSl.$1~ Q~rrLrry fLQ)LUJ§J 

(A) l9ITlQ.j @Q)LGGUroluSl~ ~6r>Q)QQJ~ 

(B) (§6lSlQ.j ~Q>Q)QQl~ 

(C) l9rTlQ.j @Q)LGGUroluSl~ ~6r>6UG6l.Joo ~Lrr~~ 

(D) l9rTlQ.j @Q)LGGUffiluSl~ 6fD6lS18il~ ~Q>Q)QQ.J~ 
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STAT/15 

~::i:~ I . I I I I I I I I I 
2015 

STATISTICS 
(Degree Standard) 

Time Allowed : 3 Hours] [Maximum Marks: 300 

Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCTIONS 

1. This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open 
it at the commencement of the examination. As soon as the signal is received you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are 
requested to check whether all the questions ru·e there in series without any omission and ensure there 
are no blank pages in the question booklet. In case any defect in the Question Paper is noticed it shall 
be reported to the Invigilator within first W minutes. 
Answer all questions. All questions carry equal marks. 
You must write your Register Number in the space provided on the top right side of this page. Do not 
write anything else on the Question Booklet. 
An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. 
You will also encode your Register Number, Subject Code, Question Booklet SL No. etc. with Blue or 
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode the above information, action will be taken as per commission's notification. 

7. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct 
response and mark in your Answer Sheet. In · case, you feel that there are more than one correct 
response, mark the response which you consider the best. In any case, choose ONLY ONE response fo'r 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

8. In the Answer Sheet there are four circles @ , @, @ and @ against each question. To answer the 
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for 
each question. Select one response for each question in the Question Booklet and mark in the Answer 
Sheet. If you mark more than one answer for one question, the answer wi.JJ be treated as wrong. e.g. If 
for any item,@is the correct answer, you have to mark as follows: 

@ • @@ 
9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 

this Question Booklet and the Answer Sheet out of the Examination Hall during the examination. 
After the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You are 
allowed to take the Question Booklet with you only after the Examination is over. 

10. The sheet before the last page of the Question Booklet can be used for Rough Work. 

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as 
the Commission may decide at their discretion. 

12. In all matters and in cases of doubt, the English Version is final. 

13. Do not tick-mark or mark the answers in the Question booklet. 
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